S.

1-x7’
_[ =—dx equals -

x(1+x")
Aa)ylnx + 2 7 & ’
S in(1+x7)+c (B) Inx—=In(1-x))+e
(CYinx - = 7 z e
1X= o In(l+x))+c (D)I“)"WL—’/'_MUﬂx)-'L
g 3x* -1
Primitive of m W.r.t. X is -
1 ‘ X +1
" . I X LG e D) — —+cC
( )x +x+1 ¢ (B) x“+x+l+c ©) x*+x+1 ® X' +x+]1

cosx—sinx+1-x . .
If _[ dx = In( b (x)) + g(x) + C where C is the constant of integration and

e® +sinx+x
JS(x) is positive, then f(x)+ g (x) has the value equal to

(A) e*+sinx +2x (B)e*+sinx (C) e*—sinx (D) e*+sinx +x

Integral of ,/1+ 2 cot x(cot X +cosecx) W.L.L. X is

(A) 21ncos§+c (B) 21nsin§+c
©) = ln oS~ +c (D) In sinx — In(cosecx — cotx) + ¢
In ( 1+x ) G S ‘ U DY
I X . dx equals -
1+x2

2 X 2 2 5 X
A) / 2 |n (X+\/1+X )—x+c B) =.In (x+ I+x )- +c
( 1+x » 2 1+x2
s , :
(©) 32(- . In? (x+vl+x2) kS ol Y D) V1+x ln(x+\/1+x2j Tt
+X :

Let g (x) be an antiderivative for f(x). Then In (1 i (g(x))z) is an antiderivative for

Nrdaberian A Crbrinn Weaagyaios \EnG\O1 . gas

2f(x)g(x) 2f(x)g(x) C 2 f{(x)
(A 1 +(f(X))2 1+ (g(X)) ( ) e (f(x))2 (D) none

. " Ao 1 .
A function y = f (x) satisfies f"(x) = g n? sin(nx) : £1(2) = n+% and f (1) = 0. The value of |

i (%J is :

(A)In2 (B)1 (C)g—an (D)1-In2 it
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10.

11.

12.
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Consider f(x) = ]:xgl g(t)= If(t)dt. If g(1) = 0 then g(x) equals-
1, 3 1, (1+x° I (1+%° 1 (1+%°
(A) 3Cn(1+x ) (B) 3('11( 5 J (C) El’n( 3 J (D) gl’n( 3 j
e\/i
I@-—(X*‘\/;)dx
(A) 26\/;["—\/;“*1}*‘(3 (B) e [x—2\/;(_+l]
(©) ™ (x+vx)+C (D) & (x+x +1)+C

Ey el

3 XS/Z(X + 1)7/2

X +1 1/6 x+1 -1/6 " 5/6 2 5/6
5 it ot Al paeit il S
e w2 o o)

X +1

2sin’ x —1 , Cosx(2sinx +1)

Let f(x)= i . then Ie"(f(x)+f'(x))dx where ¢ is the constant of
integration)
(A) e*tanx +c¢ (B) e*cotx + ¢ (C) eX cosec?x + ¢ (D) e*sec*x + ¢
2
x“(1-Mnx)
Imdx equals
1 X 1 2 7) I Inx—x | Ly (ln X )
—In| — [-— - —1 ——t — [+C
(A) 2In(lnx) 4ln(ln X—X )+C (B) h n(lnx+x) 5 an o +
(0 5 e et MYl W D) 4| "\ mx+x X
If f i = ——1—, where f(x) is of the form of ax? + bx + ¢ then
x(x+1D)(x+2)(x+3)+1 f(x)
(a+b+c)equals ‘
(A)4 B)5 )6 D) nqne
2 —_—
_fe" = 32 dx is equal to -
(x=1)

[(x+1 g
@WedDic @2 @EEf)e ol e

(where C is constant of integration)




